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3 A small employment agency is processing applications.
In the table are the numbers of applications processed in June.

Number of applications | Number of days
8 7
9 12
10 6
11 4
15 1

a Find the mean and standard deviation of the number of job
applications
b Find the interquartile range of the number of job applications.
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1 EXAM-STYLE QUESTIONS

4

«

Two dice are rolled four times and the sums of their scores are:
2,3, 6and 9. Then the dice are rolled twice more. If the new
mean score sum was 6 and the standard deviation of the score
sum was 10 find the values of the two last score sums. Hence
find the range and interquartile range of the distribution of the
score sums.

The dataset 4 = {4k—2, k, k+ 1, 2+ 4, 3}, where k < &

a Find the mean of set 4 in terms of k.

b Hence, find an expression for the variance of set 4 in the form
of ak’ + bk + cwhere a, b c < B

Each number in the set 4 is now decreased by 2.
¢ Find the mean of this new data set in terms in k.
d Explain the effect of this change on the variance of set A.
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2 A used car dealer has 150 used cars on his lot. The dealer knows
that 30 of the cars are defective. One of the 150 cars is selected at
random. What is the probability that it is defective?

‘At random’ means
that any car has an
equal chance of being.

3 A fair coin was tossed and a dice rolled. The table shows all el Ui

possible outcomes of this experiment

30 defective cars is.
as likely to be chosen
as one of the cars.
that is not defetive.

H [(1,H) [(2,H) [(3,H) [(4.H) |(5H) [(6,H)

Head

. T|@4D 2D @D |47 |61 |67

Tail

1 2 3 4 5 6

Rolling a die
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Let A be the event ‘a tail was obtained’ and B be the event ‘the
dice score was at least 3'.

Find

a P(4) b P(B) c P(AUB)

d P(ANB) e P(4'UB).




image5.png
4 Inacertain mad of the houses have no newspapers delivered.

If

havea nanonal paper delivered and > have a local paper

delivered, what is the probability that a house chosen at random
has both?

5 Two fair dice are rolled. Let 4 be the event the product of the
scores is even and B the event the sum of the scores is odd.
Find

b
c
d
e

P(4)

P(B)

P(4 U B)
P(4NB)
P UB).




